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Keynesian Economics

1. Explain what the velocity of money means.

The velocity of money is the number of times a dollar bill changes hands (in an income or final output transaction), on average, during a year; the ratio of nominal GDP to the stock of money.


Difficulty: E

Type: D



2. Write out the equation for the income velocity of money and identify each term.

V = GDP   
         M
GDP is gross domestic product and M is the money supply.

Difficulty: E

Type: A



3. If $9 trillion worth of final goods and services are produced in a given year and if the

money stock is $3 trillion what is the velocity of money?

V = $9 trillion/$3 trillion = 3


Difficulty: E

Type: A



4. What is the equation that the quantity theory of money uses and its assumption?

The quantity theory of money is based on the identity M x V = P x Y where M is the stock of money, V is the velocity of money (the rate of change over of money) , P is the price level and Y is output. It also assumes that the velocity of money (V) is constant (or virtually constant).  

Difficulty: E

Type: A

5. Explain the key concepts of Keynesian economics. Why do Keynesians still support monetary and fiscal policy intervention even though it is clearly not capable of perfectly "fine-tuning" the economy? Define and explain the basic equations of Keynesians and Monetarists. Hint: aggregate expenditures. 

       Keynes was really the first to emphasize aggregate demand and the connection between the money and goods markets. Keynes also emphasized the problem of "sticky" or downwardly inflexible wages. Keynesian economics is often associated with active government intervention into the economy. Because most Keynesians recognize that stabilization policies, although not perfect, can help prevent even larger economic problems. For example, without the tax cuts and money supply expansion in 1975 and 1982 the recessions in those years could have been much worse. Keynesians are associated with the equation GDP = C + I + G + X - N, whereas monetarists are associated with the quantity theory of money, MV = PQ. Keynesians focus on the coordination of monetary and fiscal policies to manipulate one or all of the variables in the aggregate expenditure function. Monetarists, basically, argue that monetary policy, or changes in the money supply, is the primary determinant of GDP. 

Difficulty: M

Type: A
6. Why is it that the quantity theory of exchange equation is written with a double equal sign instead of the triple equal sign?

The reason is that the equation is no longer an identity. The equation is true if velocity is constant, but not otherwise.


Difficulty: E

Type: A



7. What did early economists believe to be true about the velocity of money and why?

Early economists believed the velocity of money was determined largely by institutional considerations, such as how often people are paid and how the banking system clears transactions between banks. Because these factors change gradually, they believed velocity was essentially constant.


Difficulty: E

Type: F




8. Suppose that the money supply is $800 billion. If the velocity of money were only to

change by .2 percent (without a change in the money supply) how much of a change should that elicit in nominal GDP?

The change in nominal GDP would be .002 x $800 billion = $1.6 billion.


Difficulty: E

Type: A



9. Why is it important which monetary aggregate we choose when testing the stability of

velocity?

Suppose that there were large shifts of assets from accounts that are in both M1 and M2 to accounts which are only in M2. All other things being equal this would imply an increase in the velocity of money. However, if we chose M2 to measure velocity (with no change in GDP) then velocity would not change at all.


Difficulty: E

Type: C



10. Suppose that an increase in the money supply today of 5 percent increases GDP one year from now by precisely 5 percent. How would this time lag effect the empirical measurement of velocity?

If we measure the ratio of today's GDP to today's money supply, it would seem that the velocity of money has fallen by 5 percent. If we measured today's money supply against GDP one year from now, then velocity would have been constant.


Difficulty: E

Type: C



Monetarism

11. Assume the money supply grows by 3 percent. According to the "strict monetarists" view what should be the result? (Hint: M x V = P x Y)

The "strict monetarists" would conclude that the 3 percent increase in the money supply will simply increase the price level by 3 percent if output remains constant.


Difficulty: E

Type: F




12. Explain how the following statements relate to the velocity of money. Assume a
          constant money supply.

(a) Businesses around the country decide to pay workers only once a month in order to reduce paperwork and improve efficiency.

(b) Banks around the country begin using a new check clearing system that allows checks to clear much faster than they did previously. 

(a) Velocity would fall. This would cause money to change hands fewer times, on average, in a year. When workers are paid only once a month from, say twice a month, this is one less time a month that workers are out there buying things with their paychecks. Thus, money, on average, changes hands fewer times in a year.

(b) Velocity would increase. This would cause money to change hands more, on average, in a year. When checks clear more quickly, this allows money to circulate in the economy more rapidly. Thus, velocity would increase. 

Difficulty: M

Type: A

13. In 1994 the velocity of money = 3 and the Money Supply = $700 billion. Based on this information answer the following questions. Assume 1994 is the base year.

(a) What are the values of nominal and real GDP for 1994?

(b) If the money supply increases 10% in 1995, what is the effect on nominal GDP, assuming the velocity is constant?

(c) Using the same data from Part (b), if the velocity of money also changes from 3 to 2, now what is the effect on GDP? 

(a) M  V = GDP (nominal), thus $700  3 = $2,100 billion. If 1994 is your base year then both nominal and real GDP are $2,100 billion.

(b) $700  .10 = 70, thus a 10% increase in the Ms = $770. Nominal GDP is now $770  3 = $2,310 billion in 1995.

(c) Nominal GDP is now $770  2 = $1,540 billion. 

Difficulty:M

Type: A
14. Use the quantity theory of money to answer the following questions. We know that for 1994 this small nation had the following economic data: Ms = $200 billion, P = 3, and V = 2. (Assume output = income and GDP = P × Q.)

(a) What is income for 1994? What is nominal GDP?

(b) By how much would the money supply need to change if income were $400 billion?

(c) If annual GDP growth is 5%, by how much will the Ms need to change in 1995? (Use the GDP figure from Part (a).) 

(a) M × V = P × Y, $200 × 2 = 3 * Y, thus Y = $400/3, Y = $133.33 billion. Income (Output) = $133.33 billion, while nominal GDP = P  Q. Thus, 3 × $133.33 = $399.99 billion.

(b) M × 2 = $400  3, or M = $1200/2, so M = $600 billion. The money supply would need to change by $400 billion if income were $400 billion.

(c) $399.99 × .05 = 20. Thus, GDP would grow by $20 billion in 1995 to a new level of $418.99 billion. With a velocity of 2, the money supply would need to increase by $10 billion. M × 2 = $418.99, M = $418.99/2, or $210 billion is the new money supply. 

Difficulty: M

Type: A
15. Define the velocity of money. If the demand for money depends on the interest rate, will velocity be constant? Why or why not? 

The velocity of money is the number of times a dollar bill changes hands, on average, during the course of a year. If the demand for money depends on the interest rate, the velocity of money will not be constant. As the money supply is increased, the interest rate will fall and the quantity demanded of money will increase. This will decrease the velocity of money because there is more money held per dollar of income. 

Difficulty: E

Type: D
16. What is the equation for the quantity theory of money?

(a) If the velocity of money is constant and the economy is at capacity, what impact will an increase in the money supply have?

(b) If the velocity of money is constant and the economy is operating below capacity, what impact will an increase in the money supply have? 

The quantity theory of money is written as MV = PY.

(a) If velocity is constant and the economy is at capacity, an increase in the money supply will only increase the price level.

(b) If the velocity of money is constant and the economy is operating below capacity, an increase in the money supply will increase nominal GDP by the same percentage. 

Difficulty: M

Type: A

17. Most monetarists argue against an activist monetary policy. Explain why. Explain the type of monetary policy that monetarists do advocate. 

Monetarists argue against an activist monetary policy because they are skeptical about the government's ability to manage the macroeconomy. They argue that because of the time lags, activist policies tend to destabilize rather than stabilize the economy. Monetarists advocate that the money supply be increased at a rate equal to the average growth of real output. 

Difficulty: M

Type: A
18. What is sustained inflation? What do most economists believe to be true about its cause?

Sustained inflation is inflation that continues over many periods. Most economists believe that it is a purely monetary phenomenon – that is that most occurences of sustained inflation are usually the result of central banks efforts to increase the money supply faster than the growth rate of the economy.


Difficulty: E

Type: F



19. Why is that an increasingly expansionary fiscal policy with no increase in taxes must eventually be accommodated by the Fed in order for it to continue?

The reason is that there is limit to how far the expansion can go. Because taxes are unchanged, the government must finance the increases in spending by issuing bonds, and there is a limit to how many bonds the public is willing to hold regardless of how high the interest rate goes. Once this point is reached the government can no longer borrow to finance its expenditures. Only if the Fed is willing to increase the money supply (buy some government bonds) can the government spending continue.


Difficulty: E

Type: C



20. What policy does Milton Friedman advocate for the Federal Reserve?

He advocates a steady and slow money growth. Specifically, he argues for a growth rate of the money supply that is equal to the average growth rate of real output.


Difficulty: E

Type: F




21. Traditional economic models assume that people form their expectations of future inflation by assuming present inflation will continue and if they are wrong simply adjust their expectations by some fraction of the difference between their original forecast and the actual inflation rate. Why is this not consistent with the assumptions of microeconomics?

It implies people systematically overlook information that would allow them to make better forecasts, even though there are costs to being wrong. If, as microeconomics theory assumes, people are out to maximize their satisfaction and firms are out to maximize their profits, they should form their expectations in a smarter way.


Difficulty: E

Type: C



22. Identify what occurred in the 1970s that helped motivate the formulation of new classical economics.

The new classical theories were an attempt to explain the apparent breakdown in the 1970s of the simple inflation-unemployment trade-off predicted by the Phillips Curve.


Difficulty: E

Type: F

23. Discuss the basis for the rational-expectations hypothesis.

It is the hypothesis that people know the "true model" of the economy and that they use this model to form their expectations of the future.


Difficulty: E

Type: D



24. What do economists mean when they say that rational expectations are correct on average, even though their predictions are not exactly right all the time?

Sometimes random events have a positive effect on inflation, which means the model underestimates the inflation rate, and sometimes they have a negative effect, which means the model overestimates the inflation rate. On average, the model is correct.


Difficulty: E

Type: C


25. Define the rational-expectations hypothesis. Explain the following statement. A rational-expectations theorist argues that all markets, on average, will settle at equilibrium levels. 

This is the hypothesis that people know the "true model" of the economy and that they use this model to form their expectations of the future. If all firms have rational expectations and use all available information to set prices and wages on this basis, then all prices and wages should, on average, be at market-clearing levels. When a firm has rational expectations, it knows the demand curve for its output and the supply curve of labor that it faces; therefore, they should be in equilibrium, except for temporary shocks to the economy. 

Difficulty: M

Type: D
26. Evaluate the following situations, given a Lucas supply function where Y = 200 + 75(P - Pe), the current price level is 2, and the expected price level is 2.

(a) What happens to output when sudden oil shortages cause the price to increase from 2 to 2.5?

(b) The Federal Reserve was expected to enact a new policy that would have increased the price level from 2 to 2.4, but due to unexpected shocks the price level increased to 2.8. With these changes, what is the effect on output?

(c) The news media found unreported information that inflation would increase considerably under a recent fiscal policy package. What is the effect on output if the media reports to the public that, with this fiscal policy approach, inflation is expected to increase to a level of 3? 

(a) Y = 200 + 75(2.5- 2). Y = $237.5 billion. Output therefore rises from $200 billion to $237.5 billion due to the price surprise from the temporary shock to the economy.

(b) Y = 200 + 75(2.8 - 2.4). Y = $230 billion. With this price surprise output rises from $200 billion to $230 billion.

(c) Y = 200 + 75(3 - 3). Y = $200 billion. There is no price surprise because the news media found out and reported the expected increase ahead of time. Thus, with no price surprise the actual price level and the expected price level are the same, thus output remains at $200 billion. 

Difficulty: D

Type: A
Supply-Side Economics

27. Using aggregate demand and supply analysis, explain what supply-side economists mean by stimulating the economy. How does this compare to the traditional Keynesian approach?  

Supply Side: When taxes fall, people work more and harder. Also, businesses invest more. This leads to an increase in aggregate supply. In addition, as aggregate supply increases,  aggregate demand increase as there is now more money to spend in the economy. Keynesian: This approach utilizes fiscal policy tools to adjust aggregate demand. Thus, by increasing government spending or decreasing taxes, the government can stimulate aggregate demand. 

Difficulty: D

Type: A
28. What assumption is made in traditional macroeconomic models about how expectations are formed? Explain the shortcomings of this assumption. 

Traditional macroeconomic models assume that people form their expectations of future inflation by assuming a continuation of present inflation. The problem with this traditional treatment of expectation formation is that it is not consistent with the assumptions of microeconomics. It assumes that people ignore information that would allow them to make better forecasts, even though there are costs to being wrong. 

Difficulty: M

Type: A
29. Assume that households and firms have rational expectations. The current unemployment rate is 7%, which is above the full-employment rate of unemployment. Explain how this can happen. Would you expect this unemployment rate to persist for long? Why or why not? 

The unemployment rate can temporarily be above the full-employment rate of unemployment if there has been some type of random, unpredictable shock. This will be only a temporary phenomenon because firms, on average, set market-clearing wages and prices. Thus, unemployment will not persist for long. 

Difficulty: D

Type: A
30. According to the Lucas supply function, how will workers react to a positive price surprise? (Assume that the substitution effect is greater than the income effect.) 

If there is a positive price surprise, workers will be fooled into thinking their real wage has risen. As a result, workers will supply more hours and output will increase. Workers will realize, though, that their real wage has not really increased and labor supply and output will return to their former levels. 

Difficulty: M

Type: A
31. According to the Lucas supply function, how will firms react to a positive price
          surprise? 

If there is a positive price surprise, firms will be fooled into thinking their product price has risen. As a result, firms will hire more workers and output will increase. Firms will realize, though, that their output price has not really increased  and output will return to  former levels. 

Difficulty: M

Type: A
32. Assume that the rational-expectations theory is a realistic assumption of how people and firms set their expectations. Indicate the effect of each of the following on the price level and aggregate output.

(a) The Fed announces that it will increase the supply of money.

(b) The government unexpectedly increases government spending. 

(a) If the increase in the money supply is expected, people will expect the price level to increase. Therefore, there will be no price surprise and no change in the level of output.

(b) If the government unexpectedly increases government spending, there will be a positive price surprise and firms will incorrectly believe that the price of their output has risen relative to other prices and will therefore increase production. Workers will incorrectly believe that their real wage rates have risen and will increase their supply of labor, which also leads to an increase in output. Workers and firms will realize that they were wrong and that all prices have risen, and output will fall to its original level. 

Difficulty: M

Type: A
33. Explain the primary argument against the rational-expectations hypothesis. Explain why it is difficult to test whether or not the assumption of rational expectations is valid. 

The primary argument against the rational-expectations hypothesis is that it requires households and firms to know too much. Rational expectations requires that households and firms know the true model of how the economy operates. The gain from knowing the true model may not be worth the costs. It is difficult to empirically test whether or not the assumption of rational expectations is valid because to test the assumption one must know the true model. A test of rational expectations is a joint test that (1) expectations are formed rationally and (2) that the model being used is the true model. If the empirical test leads us to reject the hypothesis that people form their expectations rationally, it may be that the model is not the true one rather than that expectations are not rational. 

Difficulty: M

Type: A
34. What is the price surprise?

The price surprise is the actual price level minus expected price level.

Difficulty: E

Type: D


35. Assume that the economy is represented by the following function Y = $9 Trillion + $500 billion (P - Pe) . If the current price level is 1.0 and people expect it to rise to 1.1 what will be the new level of GDP if their expectations of inflation are anticipated correctly?

The level of GDP will be $9 trillion. The reason is that there is no "price surprise." (P - Pe) is zero.


Difficulty: E

Type: A



36. Write out the Lucas supply function in algebraic terms and identify each component.

Y = f([P - Pe ]) where P - Pe is the difference between P (the actual price level) and Pe (the expected price level). This difference is called the price surprise.


Difficulty: E

Type: A



37. Assume that the economy is represented by the following function Y = $9 Trillion + $500 billion (P - Pe). If the current price level is 1.0 and people expect it to rise to 1.1 what will be the new level of GDP if their expectations of inflation are wrong and the actual price level rises to 1.2?

The level of GDP = $9 Trillion + 500(1.2 - 1.1) billion = $9,050 Trillion.


Difficulty: E

Type: A



38. Assume that the economy is represented by the following function Y = $9 Trillion + $500 billion (P - Pe). If the current price level is 1.0 and people expect it to rise to 1.2 what will be the new level of GDP if the price level only rises to 1.1?

The level of GDP = $9 Trillion + 500(1.1 - 1.2) billion = $8950 Trillion.


Difficulty: E

Type: A



39. How is it that rational-expectations theory concludes that on average there will be no unemployment?

When a firm has rational expectations, it knows the demand curve for its output and the supply curve of labor that it faces (barring random shocks). Therefore, on average the firm will set the market-clearing prices and wages. The firm knows the true model, and it will not set wages different from those it expects will attract the number of workers it wants. If all firms behave this way then the quantity supplied of labor is equal to the amount of labor that firms demand, hence no unemployment.


Difficulty: E

Type: C



40. How do rational-expectation theorists explain unemployment?

They argue that unemployment is the result of unpredictable shocks that on average, amount to zero.


Difficulty: E

Type: F




41. Describe the Lucas supply function.

It embodies the idea that output depends on the difference between the actual price level and the expected price level.


Difficulty: E

Type: D



42. What is the basic policy implication of the Lucas supply function?

The Lucas supply function in combination with the assumption that expectations are rational implies that anticipated policy changes have no effect on real output.


Difficulty: E

Type: F




43. Assume that the economy is represented by the following function Y = $9 Trillion + $500 billion (P - Pe). Furthermore, assume the current price level is 1.0 and policy makers were able to increase the money supply and drive the price level to 1.1 through a secret meeting. What would be the new level of GDP?

The level of GDP = $9 Trillion + 500(1.1 - 1.0) billion = $9050 Trillion. The reason is that people will continue to expect a price level of 1.0 because of the secret nature of the policy.


Difficulty: E

Type: F




44. Explain the impact on real output of a monetary policy change that is announced to the public. Assume rational expectations.

If the policy change is announced to the public, then people know what the effect on the price level will be, because they have rational expectations (and know the way changes in monetary policy affect the price level). Therefore, there will be nor price surprise and no change in real output.




Difficulty: E

Type: C
45. Discuss the principal critiques of the Rational Expectations Theory?

The primary critique is that it requires households and firms to know too much. More importantly, critics argue that even if economic agents were capable of learning the true model, it may be too costly to take the time and gather the relevant information. Additionally, the gain from learning the true model may not be worth the cost. In a nutshell, it means that there may not be unexploited profit opportunities around. Gathering information and learning economic models may be too costly to bother with, given the expected gain from improving forecasts.


Difficulty: E

Type: C



46. What does real business cycle theory seek to explain?

It is an attempt to explain business cycle fluctuations under the assumptions of complete price and wage flexibility and rational expectations. It emphasizes shocks to technology and other supply-side shocks.


Difficulty: E

Type: D



47. What did early real business cycle theorists emphasize in their work and why do many economists regard it as unsuccessful?

Early business cycle theorists emphasized shocks to the production technology. Negative shocks would cause the marginal product of labor to decline. This leads to a lower real wage, which leads to a decrease in the quantity of labor supplied. Positive shocks would do the opposite. The work was not successful because it required what seemed to be unrealistically large shocks to explain the observed movements in labor supply over time.


Difficulty: E

Type: C



48. What did supply-side economics argue was the real problem with the U.S. economy and what was its prescription?

Supply-siders argued that high rates of taxation and heavy regulation had reduced the incentive to work, to save, and to invest. What was needed was better incentives to stimulate supply.

Difficulty: E

Type: C



49. Draw the Laffer Curve and explain its shape.
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The assumption behind this curve is that there is some tax rate beyond which the supply response is large enough to lead to a decrease in tax revenue for further increases in the tax rate and vice versa, hence the bend in the curve.


Difficulty: E

Type: D



50. Explain what would happen to tax revenue if policy makers cut tax rates while existing rates are above the bend in the Laffer Curve. Why does this happen?

Tax revenues will rise. The reason is that the lower taxes bring forth a supply response, which increases the tax base greater than the cut in tax rates. The result is higher tax revenue.


Difficulty: E

Type: C



51. Critics of supply-side theory say that cuts in tax rates may not necessarily raise tax revenue. What is their argument?

Their argument centers on the relative magnitudes of the substitution and income effects of a tax cut. They argue that although it is true that a reduction in tax rates provides a higher reward for each hour of work and thus more incentive to work, it also means that households receive a higher income for a given number of hours of work. Because they can earn the same amount of money working fewer hours, households might actually choose to work less. This reduction in the tax base will translate into lower tax revenue.


Difficulty: E

Type: C



52. Supporters of supply side theory will point to the end of the 1982 recession as proof of the success of the tax cuts of the 1980s in stimulating the economy. However, critics argue that there is an alternative explanation for the end of the 1982 recession. Explain their reasoning.

Critics argue that there are two reasons. First, the supply-side tax cuts had large demand-side effects that stimulated the economy. Secondly, the Federal Reserve pumped up the money supply and drove interest rates down at the same time the tax cuts were being up into effect.


Difficulty: E

Type: C



53. Economists will reason that any true test of the rational-expectations model is really a joint test of two things. Identify and discuss what these two tests are.  What might we conclude if the test rejects the hypothesis?

The first test is whether expectations are formed rationally in the first place. Secondly, there must be a test of whether the model being used is the true one. If the test rejects the hypotheses, it may be that the model is wrong rather than that expectations are not rational.


Difficulty: E

Type: C



54. What is the basic principle behind supply-side economics? After supply-side policies were implemented in 1981, the economy pulled out of the 1980 recession and entered an expansionary period. How would a supply-side economist explain the success of these policies? How do critics of supply-side policies explain the recovery from the recession? 

According to supply-side economists, the real problem with the economy is that high rates of taxation and heavy regulation have reduced incentives to work, to save, and to invest. They argue that what is needed is better incentives to stimulate supply. A supply-sider would argue that the tax cuts of 1981 increased the incentives to work and to invest. As a result, aggregate supply increased, which increased output and reduced the inflation rate. Critics of supply-side policies argue that the inflation rate fell not because of the reduction in tax rates, but because the economy was in a recession. They also argue that the economy pulled out of the recession because the tax cuts had a large demand-side effect that increased aggregate output. The other reason that the economy pulled out of the recession was the increase in the money supply between 1981 and 1983. 

Difficulty: M

Type: A
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